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[[:%iva BHEES g 79h | 4Y |GROSS| HDCP | NET
B B EF BE 447 46] 90| 20.7 69.3
T ES R E 45 47 92| 22.7 69.3
M [FE B’ 421 49| 91 20.5 70.5
M [P FE 42| 43| 85/ 13.7 T71.3
5 K BE 45 47| 92 20.5 71.5
66 BEE B 48] 44| 92/ 19.5 72.5
i Efk 43 45| 45| 90 16.5 73.5
8z | KiE & 49] 45| 94/ 19.5 74.5
o [RE FA 51 47| 98 23.5 74.5
10432 e 49] 49| 98] 23.5 745
1M &% E 43| 48] 91| 16.5 74.5
1260 Em  &EH 48] 54| 102 27.5 74.5
136 MK HR# 49] 43| 92 16.5 75.5
146 sl AT 46] 45/ 91 15.5 75.5
1561 ER FEKXKER 44 53] 97| 21.5 75.5
1661 [lBX FZE 44 46] 90 13.7 76.3
176 W8 Bz 44 52 96| 19.7 76.3
1861 | K& 51 47| 98] 21.5 76.5
196 [tk —# 45 47| 92| 15.5 76.5
2061 |BEAT 3 48] 45 93] 15.5 71.5
2161 |HIE EX 44] 45 89 11.5 71.5
22061 Bk RE A7 49| 96| 18.5 71.5
2361 (A RX 42| 51| 93] 15.5 71.5
2461 [HAEA E—H 53] 51| 104 25.5 78.5
2561 [ K% ®= 54 46| 100 20.7 79.3
2661 [k EH 48] 48] 96| 16.5 79.5
2761 [FeH H=E 48] 54| 102 21.7 80.3
2861 |42 1B 46] 51| 97/ 16.5 80.5
2961 [ Bt &S 50/ 50/ 100 18.5 81.5
06 =K BEER 50/ 48| 98] 15.5 82.5
IfL |[&FR * 49] 50 99 16.5 82.5
261 WF ER 50/ 53| 103 19.8] 83.2
336 [HA FF 59| 53] 112 27.7 84.3
MpL |EE EEHY 51 52| 103] 18.5 84.5
Bk BAX B 48] 57| 105/ 19.5 85.5
366 AFR B 53] 55/ 108] 20.7 87.3
VT 51 52| 103] 15.5 87.5
8L /MY BFE 53] 65| 118] 29.5  88.5
6L [ EF KA 54 50/ 104 13.7 90.3
406 [ KIE HX 60 59| 119 27.7 91.3
6L [FF)I HEsh 57/ 63| 120 26.7 93.3
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